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13/Mar/2012 Daily solar radiation

21.822 MJ/(m’- day)

6.062 kWh/(m*-day)

14/Mar/2012 Daily solar radiation

20.554 MJ/(m’- day)

5.709 kWh/(m*-day)

Global solar radiation [W/m?]
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15/Mar/2012 Daily solar radiation

24214 MJ/(m’- day)

6.726 kWh/(m*+day)

16/Mar/2012 Daily solar radiation

24.043 MJ/(m’- day)

6.679 kWh/(m*-day)
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17/Mar/2012  Daily solar radiation 25.430 Mj/ (mz_ day) 7.064 kKWh/ (mz_ day) 18/Mar/2012 Daily solar radiation 25.442 Mj/ (mz_ day) 7.067 kWh/ (mz_ day)
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19/Mar/2012 Daily solar radiation 24.997 Mj/ (mz_ day) 6.943 KWh/ (mz_ day) 20/Mar/2012 Daily solar radiation 24.050 Mmj/ (mz_ day) 6.681 kWh/ (mz_ day)
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21/Mar/2012 Daily solar radiation 21.825 Mj/ (mz_ day) 6.062 kWh/ (mz_ day)

22/Mar/2012 Daily solar radiation

22457 MJ/(m’- day)

6.238 kWh/(m*-day)
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23/Mar/2012 Daily solar radiation 24912 Mj/ (mz_ day) 6.920 kWh/ (mz_ day)
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24/Mar/2012 Daily solar radiation 23.127 MJ/(m’-day)

6.424 kKWh/(m*-day)
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25/Mar/2012 Daily solar radiation

24444 MJ/(m’- day)

6.790 kWh/(m*-day)

26/Mar/2012 Daily solar radiation

25.263 MJ/(m’-day)

7.018 kWh/(m*-day)
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	Appendix 3-2-1: Measurement Data



